

This document is a summary of bids received for the subject project and are provided only as a convenience. Listing of a particular bid is not a finding that such bid has been found to be responsive or accepted as complete by the City. An award of contract, if any, is subject to approval of the City Council and/or the City Manager. Contractors should refer to the contract documents for bidding information.

PROJECT TITLE: Sanitary Sewer Point Repair 2021

BID O	PENING		ENGINEER'S	ESTIMATE	Westland Contra	actors	D'Arcy and Harty	Construction, Inc	Conquest Contr	actors
	DATE: January 28, 2021		Date Approved:	12/21/2020	3100 E. 10th St	reet, Unit A	1300 Carroll Ave	enue	1700 Neptune D	rive
	TIME: 3:00 pm		Prepared by:	J. O'Driscoll	Oakland, CA 94	4601	San Francisco, 0	CA 94124	San Leandro, C.	A 94577
	LOCATION: City Clerk's Office				Phone: (510) 8-	42-3663	Phone: (415) 82	22-5200	Phone: (510) 39	94-0033
					Fax: (510) 842-	3846	Fax: (415) 822-0	0747	Fax: (415) 206-	0528
ITEM										
NO.	ITEM	QUANTITY	UNIT COST	ITEM COST	UNIT COST	ITEM COST	UNIT COST	ITEM COST	UNIT COST	ITEM COST
	Mobilization, Staging & Stockpiling per Sections 7-8.4 & 9-3.4	1 LS	\$100,000.00	\$100,000.00	\$40,000.00	\$40,000.00	\$80,000.00	\$80,000.00	\$230,000.00	\$230,000.00
2	Temporary Traffic Control – Level 1, per Section 600	29 EA	\$1,200.00	\$34,800.00	\$200.00	\$5,800.00	\$500.00	\$14,500.00	\$205.00	\$5,945.00
3	Temporary Traffic Control – Level 2, per Section 600	23 EA	\$1,600.00	\$36,800.00	\$300.00	\$6,900.00	\$1,000.00	\$23,000.00	\$1,200.00	\$27,600.00
4	Temporary Traffic Control – Level 3, per Section 600	29 EA	\$1,900.00	\$55,100.00	\$400.00	\$11,600.00	\$1,500.00	\$43,500.00	\$1,940.00	\$56,260.00
5	Pipe Cleaning & CCTV Inspection , per section 500-1.1	24,220 LF	\$3.00	\$72,660.00	\$2.00	\$48,440.00	\$4.00	\$96,880.00	\$2.25	\$54,495.00
6	Sheeting, Shoring & Bracing, per section 306-4	1 LS	\$50,000.00	\$50,000.00	\$20,000.00	\$20,000.00	\$100,000.00	\$100,000.00	\$75,000.00	\$75,000.00
7	Unstable Bedding Material, per	300 LF	\$45.00	\$13,500.00	\$5.00	\$1,500.00	\$5.00	\$1,500.00	\$38.00	\$11,400.00
8	Trench Excavation & Backfill, 0'-	115 LF	\$400.00	\$46,000.00	\$80.00	\$9,200.00	\$600.00	\$69,000.00	\$287.00	\$33,005.00
9	Trench Excavation & Backfill, 5'-	1,187 LF	\$425.00	\$504,475.00	\$90.00	\$106,830.00	\$660.00	\$783,420.00	\$403.00	\$478,361.00
10	Trench Excavation & Backfill, 8'-	30 LF	\$450.00	\$13,500.00	\$100.00	\$3,000.00	\$800.00	\$24,000.00	\$471.00	\$14,130.00
11	Trench Excavation & Backfill, 11'-	20 LF	\$575.00	\$11,500.00	\$110.00	\$2,200.00	\$1,000.00	\$20,000.00	\$521.00	\$10,420.00
12	Restricted Access Excavation &	92 LF	\$500.00	\$46,000.00	\$200.00	\$18,400.00	\$500.00	\$46,000.00	\$258.00	\$23,736.00
13	Lateral Repair, 4-inch Pipeline	100 LF	\$130.00	\$13,000.00	\$150.00	\$15,000.00	\$20.00	\$2,000.00	\$103.00	\$10,300.00
14	Point Repair, 6-inch Pipeline	954 LF	\$145.00	\$138,330.00	\$777.00	\$741,258.00	\$30.00	\$28,620.00	\$50.00	\$47,700.00
15	Point Repair, 8-inch Pipeline	120 LF	\$150.00	\$18,000.00	\$778.00	\$93,360.00	\$40.00	\$4,800.00	\$54.00	\$6,480.00
16	Point Repair, 10-inch Pipeline	4 LF	\$160.00	\$640.00	\$779.00	\$3,116.00	\$100.00	\$400.00	\$86.00	\$344.00
17	Not Used		\$170.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
18	Reconnect Service Lateral to 6-	93 EA	\$350.00	\$32,550.00	\$100.00	\$9,300.00	\$200.00	\$18,600.00	\$588.00	\$54,684.00
19	Reconnect Service Lateral to 8-	13 EA	\$360.00	\$4,680.00	\$200.00	\$2,600.00	\$300.00	\$3,900.00	\$618.00	\$8,034.00
20	Install New Type A-2 Manhole, 0'-	6 EA	\$8,000.00	\$48,000.00	\$9,000.00	\$54,000.00	\$6,500.00	\$39,000.00	\$12,170.00	\$73,020.00
21	Install New Type A-2 Manhole, 5'-	18 EA	\$10,000.00	\$180,000.00	\$9,500.00	\$171,000.00	\$8,500.00	\$153,000.00	\$16,400.00	\$295,200.00



This document is a summary of bids received for the subject project and are provided only as a convenience. Listing of a particular bid is not a finding that such bid has been found to be responsive or accepted as complete by the City. An award of contract, if any, is subject to approval of the City Council and/or the City Manager. Contractors should refer to the contract documents for bidding information.

PROJECT TITLE: Sanitary Sewer Point Repair 2021

	PENING		ENGINEER'S	STIMATE	Westland Contra	actors	D'Arcy and Harty	/ Construction, Inc	Conquest Contr	actors
	DATE: January 28, 2021		Date Approved:	12/21/2020	3100 E. 10th Sti	reet, Unit A	1300 Carroll Ave	enue	1700 Neptune D	rive
	TIME: 3:00 pm		Prepared by:	J. O'Driscoll	Oakland, CA 94	4601	San Francisco, 0	CA 94124	San Leandro, C	A 94577
	LOCATION: City Clerk's Office				Phone: (510) 84	42-3663	Phone: (415) 82	22-5200	Phone: (510) 39	94-0033
					Fax: (510) 842-	3846	Fax: (415) 822-0	0747	Fax: (415) 206-	0528
ITEM										
NO.	ITEM	QUANTITY	UNIT COST	ITEM COST	UNIT COST	ITEM COST	UNIT COST	ITEM COST	UNIT COST	ITEM COST
22	Install New Type A-2 Manhole,	2 EA	\$12,000.00	\$24,000.00	\$10,000.00	\$20,000.00	\$10,000.00	\$20,000.00	\$25,900.00	\$51,800.00
23	Install New Type A Manhole, 10'-	1 EA	\$15,000.00	\$15,000.00	\$10,000.00	\$10,000.00	\$12,500.00	\$12,500.00	\$29,310.00	\$29,310.00
24	Replace Type A-2 MH Barrels,	1 EA	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$9,500.00	\$9,500.00	\$13,940.00	\$13,940.00
25	Install New Type C Manhole, 5'-	1 EA	\$7,500.00	\$7,500.00	\$6,000.00	\$6,000.00	\$7,500.00	\$7,500.00	\$16,120.00	\$16,120.00
26	Repair/Rehabilitate Manhole	25 EA	\$800.00	\$20,000.00	\$500.00	\$12,500.00	\$1,500.00	\$37,500.00	\$4,500.00	\$112,500.00
	Expose and Raise Lamphole Frame & Cover to Grade, per section 300-1.6	2 EA	\$1,900.00	\$3,800.00	\$500.00	\$1,000.00	\$2,000.00	\$4,000.00	\$2,310.00	\$4,620.00
	Expose and Raise Manhole Frame & Cover to Grade, per section 300-1.6	2 EA	\$2,200.00	\$4,400.00	\$500.00	\$1,000.00	\$2,000.00	\$4,000.00	\$2,310.00	\$4,620.00
	Replace Survey Monument, per sections 2-9.1 and 3096	5 EA	\$1,900.00	\$9,500.00	\$200.00	\$1,000.00	\$1,000.00	\$5,000.00	\$2,030.00	\$10,150.00
	Remove Abandoned Lamphole/Cleanout Structure, per section 306-3.3	2 EA	\$400.00	\$800.00	\$200.00	\$400.00	\$500.00	\$1,000.00	\$1,440.00	\$2,880.00
	Grout Fill Abandoned In-place 6-inch Pipeline, per section 306-3.3	124 LF	\$27.00	\$3,348.00	\$3.00	\$372.00	\$20.00	\$2,480.00	\$108.00	\$13,392.00
	AC Pavement Restoration 6-inch Depth, per section 302-5	9,218 SF	\$22.00	\$202,796.00	\$10.00	\$92,180.00	\$14.00	\$129,052.00	\$24.00	\$221,232.00
	AC Pavement Restoration 9-inch Depth, per section 302-5	2,347 SF	\$29.00	\$68,063.00	\$12.00	\$28,164.00	\$18.00	\$42,246.00	\$30.00	\$70,410.00
-	Concrete Curb and Gutter Restoration, Per Section 303-5	20 LF	\$85.00	\$1,700.00	\$20.00	\$400.00	\$100.00	\$2,000.00	\$95.00	\$1,900.00
	Concrete Sidewalk Restoration, Per Section 303-5	130 SF	\$35.00	\$4,550.00	\$10.00	\$1,300.00	\$20.00	\$2,600.00	\$30.00	\$3,900.00
	Concrete Driveway Restoration, Per Section 303-5	110 SF	\$55.00	\$6,050.00	\$10.00	\$1,100.00	\$25.00	\$2,750.00	\$63.00	\$6,930.00



This document is a summary of bids received for the subject project and are provided only as a convenience. Listing of a particular bid is not a finding that such bid has been found to be responsive or accepted as complete by the City. An award of contract, if any, is subject to approval of the City Council and/or the City Manager. Contractors should refer to the contract documents for bidding information.

PROJECT TITLE: Sanitary Sewer Point Repair 2021

BID O	PENING		ENGINEER'S	ESTIMATE	Westland Contra	actors	D'Arcy and Hart	y Construction, Inc	Conquest Contr	actors
	DATE: January 28, 2021		Date Approved:	12/21/2020	3100 E. 10th St	eet, Unit A	1300 Carroll Ave	enue	1700 Neptune D	Prive
	TIME: 3:00 pm		Prepared by:	J. O'Driscoll	Oakland, CA 94	1601	San Francisco,	CA 94124	San Leandro, C	A 94577
	LOCATION: City Clerk's Office				Phone: (510) 84	12-3663	Phone: (415) 82	22-5200	Phone: (510) 39	94-0033
					Fax: (510) 842-3846		Fax: (415) 822-0747		Fax: (415) 206-	0528
ITEM										
NO.	ITEM	QUANTITY	UNIT COST	ITEM COST	UNIT COST	ITEM COST	UNIT COST	ITEM COST	UNIT COST	ITEM COST
	Landscape Removal and Restoration, per sections 306- 13.8	771 SF	\$35.00	\$26,985.00	\$10.00	\$7,710.00	\$5.00	\$3,855.00	\$13.00	\$10,023.00
	Rehabilitate 6-inch Host Pipeline with Cured-in-Place Pipeline, per section 500-1.4	2,907 LF	\$45.00	\$130,815.00	\$38.00	\$110,466.00	\$39.00	\$113,373.00	\$43.00	\$125,001.00
	Rehabilitate 8-inch Host Pipeline with Cured-in-Place Pipeline, per section 500-1.4	380 LF	\$50.00	\$19,000.00	\$47.00	\$17,860.00	\$40.00	\$15,200.00	\$48.00	\$18,240.00
	Re-establish Service Lateral Connections in CIPP Rehabilitated Pipelines, per Section 500-1.4.7	113 EA	\$700.00	\$79,100.00	\$125.00	\$14,125.00	\$100.00	\$11,300.00	\$133.00	\$15,029.00
	Replace and upsize 361 LF of 8- inch Pipeline with New to 10-inch pipeline by open trench Method, including trench excavation, backfill and surface restoration, per Section 306-7	1 LS	\$245,000.00	\$245,000.00	\$164,977.00	\$164,977.00	\$150,000.00	\$150,000.00	\$136,570.00	\$136,570.00
	Work Site Safety, per Section 7- 10.4.1	1 LS	\$25,000.00	\$25,000.00	\$10,000.00	\$10,000.00	\$5,000.00	\$5,000.00	\$4,030.00	\$4,030.00
		TOTAL BASE BID:		\$2,326,942.00		\$1,874,058.00		\$2,132,976.00		\$2,388,711.00
	REQUIRED DOCUMENTATION:		Bid Bond		YE	S	YE	S	YE	S
			San Leandro Lo	cal Business	N	0	N	0	YE	S
			25 % Participati	on	N	0	N	0	n/	/a
			Good Faith Effo	ort	YE	S	YES		n/a	
			Agreement to be		YE		YE			S
			Addendum #1 -	2	YE	S	YES		YES	





This document is a summary of bids received for the subject project and are provided only as a convenience. Listing of a particular bid is not a finding that such bid has been found to be responsive or accepted as complete by the City. An award of contract, if any, is subject to approval of the City Council and/or the City Manager. Contractors should refer to the contract documents for bidding information.

PROJECT TITLE: Sanitary Sewer Point Repair 2021

PROJECT NO.: **2020.0120** BID NO.: **20-21.005**

BID O	PENING		ENGINEER'S	ESTIMATE	Westland Contr	actors	D'Arcy and Har	ty Construction, Inc	Conquest Contr	actors
	DATE: January 28, 2021		Date Approved:	12/21/2020	3100 E. 10th Street, Unit A		1300 Carroll Avenue		1700 Neptune D	Prive
	TIME: 3:00 pm		Prepared by:	J. O'Driscoll	Oakland, CA 94601		San Francisco, CA 94124		San Leandro, C	A 94577
	LOCATION: City Clerk's Office				Phone: (510) 8	42-3663	Phone: (415) 822-5200		Phone: (510) 394-0033	
					Fax: (510) 842-	3846	Fax: (415) 822	-0747	Fax: (415) 206-	0528
ITEM										
NO.	ITEM	QUANTITY	UNIT COST	ITEM COST	UNIT COST	ITEM COST	UNIT COST	ITEM COST	UNIT COST	ITEM COST
	su	BCONTRACTORS:	:		Christian Brotl	ners Lining Co.	Christian Brotl	ners Lining	Nor Cal Pipelin	e Services

Reviewed by: John O'Driscoll Date: 2/1/2021

John O'Driscoll, Project Manager

Reviewed by: Austine Osakwe Date: 2/2/2021

Austine Osakwe, Senior Engineer



DID ODENING

This document is a summary of bids received for the subject project and are provided only as a convenience. Listing of a particular bid is not a finding that such bid has been found to be responsive or accepted as complete by the City. An award of contract, if any, is subject to approval of the City Council and/or the City Manager. Contractors should refer to the contract documents for bidding information.

PROJECT TITLE: Sanitary Sewer Point Repair 2021

ENGINEEDIC ECTIMATE

BID O	PENING		ENGINEER'S	ESTIMATE	Cratus, Inc.		Kerex Engineeri	•		nstruction, Inc.
	DATE: January 28, 2021		Date Approved:		2178 Palou Ave		4941 Pacheco E		PO Box 947	
	TIME : 3:00 pm		Prepared by:	J. O'Driscoll	San Francisco,		Martinez, CA 9			isco, CA 94083
	LOCATION : City Clerk's Office				Phone: (415) 9	39-2840	Phone: (925) 3		Phone: (415)	759-0506
					Fax: (415) 520-6037		Fax: (925) 387-0853		Fax: (415) 468-1359	
ITEM										
NO.	ITEM	QUANTITY	UNIT COST	ITEM COST	UNIT COST	ITEM COST	UNIT COST	ITEM COST	UNIT COST	ITEM COST
1	Mobilization, Staging & Stockpiling per Sections 7-8.4 & 9-3.4	1 LS	\$100,000.00	\$100,000.00	\$70,000.00	\$70,000.00	\$100,000.00	\$100,000.00	\$230,000.00	\$230,000.00
2	Temporary Traffic Control – Level 1, per Section 600	29 EA	\$1,200.00	\$34,800.00	\$500.00	\$14,500.00	\$900.00	\$26,100.00	\$5,000.00	\$145,000.00
3	Temporary Traffic Control – Level 2, per Section 600	23 EA	\$1,600.00	\$36,800.00	\$700.00	\$16,100.00	\$1,100.00	\$25,300.00	\$6,000.00	\$138,000.00
4	Temporary Traffic Control – Level 3, per Section 600	29 EA	\$1,900.00	\$55,100.00	\$900.00	\$26,100.00	\$1,500.00	\$43,500.00	\$8,000.00	\$232,000.00
5	Pipe Cleaning & CCTV Inspection , per section 500-1.1	24,220 LF	\$3.00	\$72,660.00	\$5.00	\$121,100.00	\$4.50	\$108,990.00	\$2.10	\$50,862.00
6	Sheeting, Shoring & Bracing, per section 306-4	1 LS	\$50,000.00	\$50,000.00	\$40,000.00	\$40,000.00	\$75,000.00	\$75,000.00	\$268,000.00	\$268,000.00
7	Unstable Bedding Material, per	300 LF	\$45.00	\$13,500.00	\$7.00	\$2,100.00	\$25.00	\$7,500.00	\$25.00	\$7,500.00
8	Trench Excavation & Backfill, 0'-	115 LF	\$400.00	\$46,000.00	\$950.00	\$109,250.00	\$900.00	\$103,500.00	\$500.00	\$57,500.00
9	Trench Excavation & Backfill, 5'-	1,187 LF	\$425.00	\$504,475.00	\$1,000.00	\$1,187,000.00	\$550.00	\$652,850.00	\$600.00	\$712,200.00
10	Trench Excavation & Backfill, 8'-	30 LF	\$450.00	\$13,500.00	\$2,000.00	\$60,000.00	\$1,200.00	\$36,000.00	\$700.00	\$21,000.00
11	Trench Excavation & Backfill, 11'-	20 LF	\$575.00	\$11,500.00	\$2,500.00	\$50,000.00	\$1,200.00	\$24,000.00	\$1,000.00	\$20,000.00
12	Restricted Access Excavation &	92 LF	\$500.00	\$46,000.00	\$1,000.00	\$92,000.00	\$800.00	\$73,600.00	\$300.00	\$27,600.00
13	Lateral Repair, 4-inch Pipeline	100 LF	\$130.00	\$13,000.00	\$20.00	\$2,000.00	\$500.00	\$50,000.00	\$250.00	\$25,000.00
14	Point Repair, 6-inch Pipeline	954 LF	\$145.00	\$138,330.00	\$25.00	\$23,850.00	\$500.00	\$477,000.00	\$500.00	\$477,000.00
15	Point Repair, 8-inch Pipeline	120 LF	\$150.00	\$18,000.00	\$30.00	\$3,600.00	\$500.00	\$60,000.00	\$700.00	\$84,000.00
16	Point Repair, 10-inch Pipeline	4 LF	\$160.00	\$640.00	\$40.00	\$160.00	\$2,000.00	\$8,000.00	\$1,000.00	\$4,000.00
17	Not Used		\$170.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
18	Reconnect Service Lateral to 6-	93 EA	\$350.00	\$32,550.00	\$150.00	\$13,950.00	\$150.00	\$13,950.00	\$200.00	\$18,600.00
19	Reconnect Service Lateral to 8-	13 EA	\$360.00	\$4,680.00	\$150.00	\$1,950.00	\$150.00	\$1,950.00	\$250.00	\$3,250.00
20	Install New Type A-2 Manhole, 0'-	6 EA	\$8,000.00	\$48,000.00	\$9,000.00	\$54,000.00	\$7,500.00	\$45,000.00	\$14,000.00	\$84,000.00
21	Install New Type A-2 Manhole, 5'-	18 EA	\$10,000.00	\$180,000.00	\$11,000.00	\$198,000.00	\$9,000.00	\$162,000.00	\$16,000.00	\$288,000.00



This document is a summary of bids received for the subject project and are provided only as a convenience. Listing of a particular bid is not a finding that such bid has been found to be responsive or accepted as complete by the City. An award of contract, if any, is subject to approval of the City Council and/or the City Manager. Contractors should refer to the contract documents for bidding information.

PROJECT TITLE: Sanitary Sewer Point Repair 2021

BID O	PENING		ENGINEER'S I	ESTIMATE	Cratus, Inc.		Kerex Engineeri	•		nstruction, Inc.
	DATE: January 28, 2021		Date Approved:	12/21/2020	2178 Palou Ave	nue	4941 Pacheco E	Boulevard	PO Box 947	
	TIME: 3:00 pm		Prepared by:	J. O'Driscoll	San Francisco, (CA 94124	Martinez, CA 94	4553	So. San Franc	cisco, CA 94083
	LOCATION: City Clerk's Office				Phone: (415) 93	39-2840	Phone: (925) 38	87-8913	Phone: (415)	759-0506
					Fax: (415) 520-6037		Fax: (925) 387-0853		Fax: (415) 46	8-1359
ITEM										
NO.	ITEM	QUANTITY	UNIT COST	ITEM COST	UNIT COST	ITEM COST	UNIT COST	ITEM COST	UNIT COST	ITEM COST
22	Install New Type A-2 Manhole,	2 EA	\$12,000.00	\$24,000.00	\$14,000.00	\$28,000.00	\$15,000.00	\$30,000.00	\$17,000.00	\$34,000.00
23	Install New Type A Manhole, 10'-	1 EA	\$15,000.00	\$15,000.00	\$14,500.00	\$14,500.00	\$15,000.00	\$15,000.00	\$20,000.00	\$20,000.00
24	Replace Type A-2 MH Barrels,	1 EA	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$15,000.00	\$15,000.00	\$14,000.00	\$14,000.00
25	Install New Type C Manhole, 5'-	1 EA	\$7,500.00	\$7,500.00	\$12,000.00	\$12,000.00	\$15,000.00	\$15,000.00	\$8,000.00	\$8,000.00
26	Repair/Rehabilitate Manhole	25 EA	\$800.00	\$20,000.00	\$3,000.00	\$75,000.00	\$5,200.00	\$130,000.00	\$1,500.00	\$37,500.00
27	Expose and Raise Lamphole Frame & Cover to Grade, per section 300-1.6	2 EA	\$1,900.00	\$3,800.00	\$1,000.00	\$2,000.00	\$4,000.00	\$8,000.00	\$2,000.00	\$4,000.00
28	Expose and Raise Manhole Frame & Cover to Grade, per section 300-1.6	2 EA	\$2,200.00	\$4,400.00	\$2,000.00	\$4,000.00	\$4,000.00	\$8,000.00	\$2,500.00	\$5,000.00
29	Replace Survey Monument, per sections 2-9.1 and 3096	5 EA	\$1,900.00	\$9,500.00	\$3,000.00	\$15,000.00	\$2,000.00	\$10,000.00	\$1,400.00	\$7,000.00
30	Remove Abandoned Lamphole/Cleanout Structure, per section 306-3.3	2 EA	\$400.00	\$800.00	\$1,000.00	\$2,000.00	\$2,500.00	\$5,000.00	\$4,000.00	\$8,000.00
31	Grout Fill Abandoned In-place 6-inch Pipeline, per section 306-3.3	124 LF	\$27.00	\$3,348.00	\$10.00	\$1,240.00	\$165.00	\$20,460.00	\$80.00	\$9,920.00
32	AC Pavement Restoration 6-inch Depth, per section 302-5	9,218 SF	\$22.00	\$202,796.00	\$6.00	\$55,308.00	\$15.00	\$138,270.00	\$6.00	\$55,308.00
33	AC Pavement Restoration 9-inch Depth, per section 302-5	2,347 SF	\$29.00	\$68,063.00	\$10.00	\$23,470.00	\$15.00	\$35,205.00	\$8.00	\$18,776.00
34	Concrete Curb and Gutter Restoration, Per Section 303-5	20 LF	\$85.00	\$1,700.00	\$60.00	\$1,200.00	\$350.00	\$7,000.00	\$80.00	\$1,600.00
35	Concrete Sidewalk Restoration, Per Section 303-5	130 SF	\$35.00	\$4,550.00	\$20.00	\$2,600.00	\$50.00	\$6,500.00	\$40.00	\$5,200.00
36	Concrete Driveway Restoration, Per Section 303-5	110 SF	\$55.00	\$6,050.00	\$25.00	\$2,750.00	\$50.00	\$5,500.00	\$65.00	\$7,150.00



This document is a summary of bids received for the subject project and are provided only as a convenience. Listing of a particular bid is not a finding that such bid has been found to be responsive or accepted as complete by the City. An award of contract, if any, is subject to approval of the City Council and/or the City Manager. Contractors should refer to the contract documents for bidding information.

PROJECT TITLE: Sanitary Sewer Point Repair 2021

	ID OPENING DATE: January 28, 2021 TIME: 3:00 pm LOCATION: City Clerk's Office		Date Approved: 12/21/2020 Prepared by: J. O'Driscoll		Cratus, Inc. 2178 Palou Avenue San Francisco, CA 94124 Phone: (415) 939-2840 Fax: (415) 520-6037		Kerex Engineering, Inc. 4941 Pacheco Boulevard Martinez, CA 94553 Phone: (925) 387-8913 Fax: (925) 387-0853		KJ Woods Construction, Inc. PO Box 947 So. San Francisco, CA 94083 Phone: (415) 759-0506 Fax: (415) 468-1359	
ITEM NO.	ITEM	QUANTITY	UNIT COST	ITEM COST	UNIT COST	ITEM COST	UNIT COST	ITEM COST	UNIT COST	ITEM COST
	Landscape Removal and Restoration, per sections 306- 13.8	771 SF	\$35.00	\$26,985.00	\$5.00		\$10.00	\$7,710.00	\$10.00	\$7,710.00
	Rehabilitate 6-inch Host Pipeline with Cured-in-Place Pipeline, per section 500-1.4	2,907 LF	\$45.00	\$130,815.00	\$45.00	\$130,815.00	\$40.00	\$116,280.00	\$40.00	\$116,280.00
	Rehabilitate 8-inch Host Pipeline with Cured-in-Place Pipeline, per section 500-1.4	380 LF	\$50.00	\$19,000.00	\$50.00	\$19,000.00	\$40.00	\$15,200.00	\$45.00	\$17,100.00
	Re-establish Service Lateral Connections in CIPP Rehabilitated Pipelines, per Section 500-1.4.7	113 EA	\$700.00	\$79,100.00	\$50.00	\$5,650.00	\$100.00	\$11,300.00	\$125.00	\$14,125.00
	Replace and upsize 361 LF of 8- inch Pipeline with New to 10-inch pipeline by open trench Method, including trench excavation, backfill and surface restoration, per Section 306-7	1 LS	\$245,000.00	\$245,000.00	\$80,000.00	\$80,000.00	\$290,000.00	\$290,000.00	\$180,500.00	\$180,500.00
42	Work Site Safety, per Section 7- 10.4.1	1 LS	\$25,000.00	\$25,000.00	\$8,000.00	\$8,000.00	\$5,000.00	\$5,000.00	\$23,319.00	\$23,319.00
		TOTAL BASE BID:		\$2,326,942.00		\$2,582,048.00	!	\$2,988,665.00		\$3,488,000.00
	REQUIRED DOCUMENTATION:		Bid Bond		YE	S	YE		Y	ES
			San Leandro Lo		N	_	N			10
			25 % Participati		N		Pend			10
			Good Faith Effo			ES Es	n/a		YES	
			Addendum #1 -		YES YES		YES YES		YES YES	
I			Addendam #1 -	Addendum #1 - 2			TES TES		YES	





This document is a summary of bids received for the subject project and are provided only as a convenience. Listing of a particular bid is not a finding that such bid has been found to be responsive or accepted as complete by the City. An award of contract, if any, is subject to approval of the City Council and/or the City Manager. Contractors should refer to the contract documents for bidding information.

PROJECT TITLE: Sanitary Sewer Point Repair 2021

PROJECT NO.: 2020.0120 BID NO.: 20-21.005

BID O	PENING		ENGINEER'S ESTIMATE		Cratus, Inc.		Kerex Engineering, Inc.		KJ Woods Construction, Inc.	
	DATE: January 28, 2021		Date Approved: 12/21/2020		2178 Palou Avenue		4941 Pacheco Boulevard		PO Box 947	
	TIME: 3:00 pm		Prepared by:	J. O'Driscoll	San Francisco, CA 94124		Martinez, CA 94553		So. San Franc	cisco, CA 94083
	LOCATION: City Clerk's Office				Phone: (415) 939-2840		Phone: (925) 387-8913		Phone: (415)	759-0506
	EM				Fax: (415) 520-6037		Fax: (925) 387-0853		Fax: (415) 468-1359	
ITEM										
NO.	ITEM	QUANTITY	UNIT COST	ITEM COST	UNIT COST	ITEM COST	UNIT COST	ITEM COST	UNIT COST	ITEM COST
	SUBCONTRACTORS:				Christian Brotl	hers Lining Co.	Christian Brotl H&R Plumbing Pipe & Plant	•	Nor-Cal Pipel	

Reviewed by: John O'Driscoll Date: 2/1/2021

John O'Driscoll, Project Manager

Reviewed by: Austine Osakwe Date: 2/2/2021

Austine Osakwe, Senior Engineer



This document is a summary of bids received for the subject project and are provided only as a convenience. Listing of a particular bid is not a finding that such bid has been found to be responsive or accepted as complete by the City. An award of contract, if any, is subject to approval of the City Council and/or the City Manager. Contractors should refer to the contract documents for bidding information.

PROJECT TITLE: Sanitary Sewer Point Repair 2021

PROJECT NO.: 2020.0120 BID NO .: 20-21.005

BID OPENING **ENGINEER'S ESTIMATE DATE:** January 28, 2021 Date Approved: 12/21/2020

TIME: 3:00 pm Prepared by:

LOCATION: City Clerk's Office

EPS Inc. dba Express Plumbing 307 N. Amphlett Boulevard San Mateo, CA 94401 Phone: (650) 343-9477

J. O'Driscoll

					Fax: (650) 343-8256		
ITEM NO.	ITEM	QUANTITY	UNIT COST	ITEM COST	UNIT COST	ITEM COST	
	Mobilization, Staging &	1 LS	UNIT COST	\$100,000.00	\$100,000.00	\$100,000.00	
'	Stockpiling per Sections 7-8.4 & 9-3.4	1 13	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	
2	Temporary Traffic Control – Level 1, per Section 600	29 EA	\$1,200.00	\$34,800.00	\$10,000.00	\$290,000.00	
3	Temporary Traffic Control – Level 2, per Section 600	23 EA	\$1,600.00	\$36,800.00	\$16,000.00	\$368,000.00	
4	Temporary Traffic Control – Level 3, per Section 600	29 EA	\$1,900.00	\$55,100.00	\$17,000.00	\$493,000.00	
5	Pipe Cleaning & CCTV Inspection , per section 500-1.1	24,220 LF	\$3.00	\$72,660.00	\$2.50	\$60,550.00	
6	Sheeting, Shoring & Bracing, per section 306-4	1 LS	\$50,000.00	\$50,000.00	\$20,000.00	\$20,000.00	
7	Unstable Bedding Material, per	300 LF	\$45.00	\$13,500.00	\$210.00	\$63,000.00	
8	Trench Excavation & Backfill, 0'-	115 LF	\$400.00	\$46,000.00	\$200.00	\$23,000.00	
9	Trench Excavation & Backfill, 5'-	1,187 LF	\$425.00	\$504,475.00	\$220.00	\$261,140.00	
10	Trench Excavation & Backfill, 8'-	30 LF	\$450.00	\$13,500.00	\$250.00	\$7,500.00	
11	Trench Excavation & Backfill, 11'-	20 LF	\$575.00	\$11,500.00	\$280.00	\$5,600.00	
12	Restricted Access Excavation &	92 LF	\$500.00	\$46,000.00	\$250.00	\$23,000.00	
13	Lateral Repair, 4-inch Pipeline	100 LF	\$130.00	\$13,000.00	\$300.00	\$30,000.00	
14	Point Repair, 6-inch Pipeline	954 LF	\$145.00	\$138,330.00	\$700.00	\$667,800.00	
15	Point Repair, 8-inch Pipeline	120 LF	\$150.00	\$18,000.00	\$700.00	\$84,000.00	
16	Point Repair, 10-inch Pipeline	4 LF	\$160.00	\$640.00	\$1,000.00	\$4,000.00	
17	Not Used		\$170.00	\$0.00	\$0.00	\$0.00	
18	Reconnect Service Lateral to 6-	93 EA	\$350.00	\$32,550.00	\$1,000.00	\$93,000.00	
19	Reconnect Service Lateral to 8-	13 EA	\$360.00	\$4,680.00	\$1,000.00	\$13,000.00	
20	Install New Type A-2 Manhole, 0'-	6 EA	\$8,000.00	\$48,000.00	\$10,000.00	\$60,000.00	
21	Install New Type A-2 Manhole, 5'-	18 EA	\$10,000.00	\$180,000.00	\$11,000.00	\$198,000.00	



This document is a summary of bids received for the subject project and are provided only as a convenience. Listing of a particular bid is not a finding that such bid has been found to be responsive or accepted as complete by the City. An award of contract, if any, is subject to approval of the City Council and/or the City Manager. Contractors should refer to the contract documents for bidding information.

PROJECT TITLE: Sanitary Sewer Point Repair 2021

PROJECT NO.: 2020.0120 BID NO.: 20-21.005

BID OPENING ENCINEEDIS ESTIMATE

DATE: Ja **TIME:** 3:

LOCATIO

i	ENGINEER'S	ESTIMATE	EPS Inc. dba E	xpress Plumbing
January 28, 2021	Date Approved:	12/21/2020	307 N. Amphlet	t Boulevard
3:00 pm	Prepared by:	J. O'Driscoll	San Mateo, CA	94401
ON: City Clerk's Office			Phone: (650) 3	43-9477
			Fax: (650) 343-	-8256

					Fax: (650) 343-8256		
ITEM							
NO.	ITEM	QUANTITY	UNIT COST	ITEM COST	UNIT COST	ITEM COST	
	Install New Type A-2 Manhole,	2 EA	\$12,000.00	\$24,000.00	\$14,000.00	\$28,000.00	
	Install New Type A Manhole, 10'-	1 EA	\$15,000.00	\$15,000.00	\$14,000.00		
24	Replace Type A-2 MH Barrels,	1 EA	\$10,000.00	\$10,000.00	\$7,500.00	\$7,500.00	
25	Install New Type C Manhole, 5'-	1 EA	\$7,500.00	\$7,500.00	\$12,000.00	\$12,000.00	
26	Repair/Rehabilitate Manhole	25 EA	\$800.00	\$20,000.00	\$2,800.00	\$70,000.00	
27	Expose and Raise Lamphole Frame & Cover to Grade, per section 300-1.6	2 EA	\$1,900.00	\$3,800.00	\$5,100.00	\$10,200.00	
28	Expose and Raise Manhole Frame & Cover to Grade, per section 300-1.6	2 EA	\$2,200.00	\$4,400.00	\$5,200.00	\$10,400.00	
29	Replace Survey Monument, per sections 2-9.1 and 3096	5 EA	\$1,900.00	\$9,500.00	\$8,500.00	\$42,500.00	
30	Remove Abandoned Lamphole/Cleanout Structure, per section 306-3.3	2 EA	\$400.00	\$800.00	\$2,800.00	\$5,600.00	
31	Grout Fill Abandoned In-place 6-inch Pipeline, per section 306-3.3	124 LF	\$27.00	\$3,348.00	\$40.00	\$4,960.00	
32	AC Pavement Restoration 6-inch Depth, per section 302-5	9,218 SF	\$22.00	\$202,796.00	\$42.00	\$387,156.00	
33	AC Pavement Restoration 9-inch Depth, per section 302-5	2,347 SF	\$29.00	\$68,063.00	\$45.00	\$105,615.00	
34	Concrete Curb and Gutter Restoration, Per Section 303-5	20 LF	\$85.00	\$1,700.00	\$120.00	\$2,400.00	
35	Concrete Sidewalk Restoration, Per Section 303-5	130 SF	\$35.00	\$4,550.00	\$45.00	\$5,850.00	
36	Concrete Driveway Restoration, Per Section 303-5	110 SF	\$55.00	\$6,050.00	\$45.00	\$4,950.00	



This document is a summary of bids received for the subject project and are provided only as a convenience. Listing of a particular bid is not a finding that such bid has been found to be responsive or accepted as complete by the City. An award of contract, if any, is subject to approval of the City Council and/or the City Manager. Contractors should refer to the contract documents for bidding information.

PROJECT TITLE: Sanitary Sewer Point Repair 2021

3ID O	PENING		ENGINEER'S	ESTIMATE	EPS Inc. dba Express Plumbing			
	DATE: January 28, 2021 TIME: 3:00 pm LOCATION: City Clerk's Office		Date Approved: Prepared by:	12/21/2020 J. O'Driscoll	307 N. Amphlett Boulevard San Mateo, CA 94401 Phone: (650) 343-9477			
ITEM					Fax: (650) 343-8	3250		
NO.	ITEM	QUANTITY	UNIT COST	ITEM COST	UNIT COST	ITEM COST		
37	Landscape Removal and Restoration, per sections 306- 13.8	771 SF	\$35.00	\$26,985.00	\$95.00	\$73,245.00		
	Rehabilitate 6-inch Host Pipeline with Cured-in-Place Pipeline, per section 500-1.4	2,907 LF	\$45.00	\$130,815.00	\$65.00	\$188,955.00		
	Rehabilitate 8-inch Host Pipeline with Cured-in-Place Pipeline, per section 500-1.4	380 LF	\$50.00	\$19,000.00	\$75.00	\$28,500.00		
40	Re-establish Service Lateral Connections in CIPP Rehabilitated Pipelines, per Section 500-1.4.7	113 EA	\$700.00	\$79,100.00	\$250.00	\$28,250.00		
	Replace and upsize 361 LF of 8- inch Pipeline with New to 10-inch pipeline by open trench Method, including trench excavation, backfill and surface restoration, per Section 306-7	1 LS	\$245,000.00	\$245,000.00	\$142,595.00	\$142,595.00		
42	Work Site Safety, per Section 7- 10.4.1	1 LS	\$25,000.00	\$25,000.00	\$10,000.00	\$10,000.00		
		TOTAL BASE BID:		\$2,326,942.00		\$4,047,266.00		
	REQUIRED DOCUMENTATION:		Bid Bond		YE	S		
			San Leandro Lo	cal Business	NO)		
			25 % Participati		NO			
			Good Faith Effo		YES			
			Agreement to be		YES			
			Addendum #1 -	2	YES			



This document is a summary of bids received for the subject project and are provided only as a convenience. Listing of a particular bid is not a finding that such bid has been found to be responsive or accepted as complete by the City. An award of contract, if any, is subject to approval of the City Council and/or the City Manager. Contractors should refer to the contract documents for bidding information.

PROJECT TITLE: Sanitary Sewer Point Repair 2021

PROJECT NO.: 2020.0120 BID NO.: 20-21.005

BID OPENING			ENGINEER'S ESTIMATE		EPS Inc. dba Express Plumbing	
DATE: January 28, 2021 TIME: 3:00 pm LOCATION: City Clerk's Office			Date Approved: 12/21/2020		307 N. Amphlett Boulevard	
			Prepared by: J	J. O'Driscoll	San Mateo, CA 94401 Phone: (650) 343-9477	
ITEM						
NO.	ITEM	QUANTITY	UNIT COST	ITEM COST	UNIT COST	ITEM COST
SUBCONTRACTORS:					Christian Brothers Lining Co JJR Construction, Inc.	

Reviewed by: John O'Driscoll Date: 2/1/2021

John O'Driscoll, Project Manager

Reviewed by: Austine Osakwe Date: 2/2/2021

Austine Osakwe, Senior Engineer